
� CBTF Quiz 6 this week 
� No class on Friday J (But Friday discussions still meet) 
� Written Assignment #4 – Due Friday, Dec. 1 

 
 

q Upcoming deadlines: 
�  Wednesday (11/15) 

�  PL HW22 

�  Thursday (11/16) 
� ME HW23 

Announcements 

imgur 
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Consider three different possible cross sectional shapes 
and areas for the beam RS. For the given vertical 
loading P on the beam, which shape will develop less 
internal stress and deflection?  

10cm 

10cm 
1cm x 

3cm 

10cm 3cm 
R S 

P 

(C) (B) (A) 

Moment of Inertia for Areas 



•  If individual bodies making up a composite body have individual areas 
A and moments of inertia I computed through their centroids, then the 
composite area and moment of inertia is a sum of the individual 
component contributions. 

    This requires the parallel axis theorem: 

Moment of inertia of composite 
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Find the moment of inertia about its centroid: 



Determine the moment of inertia for the 
cross-sectional area about the x and y 
centroidal axes. 



 Two channels are welded to a rolled W 
section as shown. Determine the moments 
of inertia of the combined section with 
respect to the centroidal x and y axes. 







Chapter 5 Part II – 3-D Rigid Body 



Equilibrium of a rigid body 

Now we add the z-axis to the 
coordinate system! 
 
6 Equations of Equilibriums: 
 
 
 











Calculate the reaction forces at the support. 


